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1 A |G E=Xis Ei% G 44. 65 45. 69 36. 75 85. 32 7 8 6 11
2 YEHEY | Ok fexii HH% H% 43.79 36. 38 18. 77 18.1 4 9 4 11
3 Ptk ki fenis ki ki 31.08 39. 03 37.99 4.24 4 7 6 2
4 HAEH | A (ks ki i 65. 43 214. 83 255.4949 [77.81 22 14 11 13
5 yINEA HF5 ki X =i 65. 79 55. 89 66. 69 14. 12 4 1 3
6 BN | E Eekis (e Eekis 0 0 0 0 6 1 4
7 HIRE |G ek 5 X 31. 68 53. 08 39. 06 63. 57 5 2 1
8 BhIE 75 =X 75 75 149. 19 218. 86 299. 52 225. 4 26 0 15 14
9 wEL A& X i =i 41.6 71.04 82.8009 [51.51 5 1 3 1
10 hE = e ok Mo 0 8.75 8.75 0 9 0 2 2
11 it |G fenis ki =i 0 0 0 0 0 0 0 0
12 XRI | A =X X =i 0 0 0 0 1 1 6 0
13 B X E=Xis % 5% 7.1 2.94 8.2 2.42 5 4 4 3
14 B EeNis ek EeNis ki 0.75 0.75 0. 89 0. 89 2 0 1 0
15 BRgkoR | &% (ks EeNi g 1% 0. 44 0. 44 0. 44 0 1 2 1 1
16 G |G (ks CeNi g ek 5.6 6. 64 1.24 2.18 0 0 0 0
17 FREOL B e 5 = 0 11.57 4.25 3. 62 7 4 6 4
18 X2 (eNis 75 ek Ak 0 0. 45 0. 45 0. 45 10 8 5 8
19 B |G ek (e = 0 0 0 0 1 0 0 0
20 i X E = & 1. 62 1.73 1.44 0.83 0 0 1 2
21 it EeXis SeXis 75 = 0 0 0 0 0 0 0 0
22 f[E= | &% C=Xis 75 = 0 0 0 0 0 0 0 0
23 A | &% % ki = 19. 21 39. 11 23.92 25.12 10 10 14 15
24 f#esE |6 ki & E% 46. 91 26. 82 37.83 76. 2 5 7 9 8
25 I i & = 0 0 0 0 0 1 0 0
26 TRYERD | B fexi ki = 0 0 0 0 0 0 0 0
27 LRI |EH fenis ki 5% 0.16 0.16 0 0 0 0 0 0
28 BEN |6 i G = 35. 06 47.36 56. 81 67. 46 2 2 1 9
29 i ek % = = 18.19 30. 19 28.15 51. 45 0 0 2 0
30 e |Gk ki (eNiis Ak 6 7.5 6.78 1.3 0 0 0 0
31 e o s fexi Eeis Ak 0 0 1.71 7.71 1 0 0 0
32 T | & % 75 =i 0 0 0 0 1 0 0 0
33 TEM A & = = 9.22 31.51 15. 773 14. 53 4 0 2 2
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34 S ey feXis 75 Ak 55. 1 21. 67 4.96 2.6 2 5 6 11
35 mRiE |G ek X ek 16. 78 9. 06 11. 23 2. 72 0 0 0 0
36 FRIE | EH fexis ki fexis 7.26 0 0 0 2 0 0 0
37 REE |6 (ks CeNi g % 11.29 13. 44 13. 44 2.78 2 1 0 1
38 kS [RF (ks EeNi g % 12. 37 20. 47 25.0308 [13.83 1 1 1 1
39 WRE | & 4% 75 4% 0. 32 0.22 1.73 1.51 0 0 0 0
40 A | & ek 5 Ak 0 23. 46 10. 83 3. 59 0 1 0 0
41 SHEERE | B % EeRiis fexi 0 0 0.1 0.1 1 0 0 0
42 S i X i 0 0 0 0 1 1 0 0
43 PARE | B 75 L% 4% 35.9 79. 99 45. 49 85. 96 2 2 7 6
44 Tk &% k% ey &g 27 23. 17 29. 17 17.17 3 2 3 5
45 Br—er [ 5% fenis ki 55 0 0 0 0 0 0 0 0
46 FHBE A =X X =i 0 0 0 0 0 0 0 0
47 ) 5 e ok Mo 0 2.64 2.64 2.64 0 0 0 0
48 Tl |G X 75 N 8. 57 20. 73 15.8278  [9.29 0 0 1 0
49 KE ki fenis ki =i 0 0 0 0.31 1 2 2 0
50 ZKIL & ek o i 0 0 0 0 0 0 1 0
51 MR = % e i 0 0 0 1.05 2 0 0 1
52 EITF |G fexi ki =i 0 0 0 0 3 0 0 0
53 S R (ks EeNi g % 38.6 74. 47 70. 64 33.98 0 0 1 0
54 PT = 75 i e 0 0 0 0 1 0 0 0
55 JH N 5 e ok e 1.06 0. 99 1.01 0 0 0 0 0
56 HwEE |IF feni fexi 75 6. 42 6. 54 6. 62 9.33 0 0 0 2
57 A e G ek 0 0 0 0 0 0 0 0
58 mEE |G G G =i 0 0 0 0 0 0 0 0
59 7T = e = EEXis 0 0 0 2.4 0 0 0 0
60 H fehis fexi ki = 0 0 0 0 0 0 0 0
61 TAE |G fexi feri =i 0 0 0 0 0 0 0 0
62 EEH A 75 & =i 0 0 0 0 0 0 0 0
63 wRE & % = = 4.8 166. 48 317. 48 237.99 0 0 39 20
64 Wl = = & EH% 0 0 8.6 38.72 0 0 0 1
65 A Bk = ki =i 0 0 0 0 2 0 0 0
66 MAIR | A fexis Hi% =i 0 0 0 0 0 0 0 0
67 HEZ | E =X i i 0 0 0 0 0 0 0 0
68 A | B fexis (e EeNis 0 0 0 0 0 0 0 0
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69 BEE |G feXis % % 0 16. 35 70. 78 221. 38 0 0 0 10
70 i X ek X ek 0 0 0 4.97 0 0 7 6
71 wCE |G ek Eeis 75 0 0 0 154. 1 0 0 0 0
72 g |Gk fenis EeNi g ki 0 0 0 0 0 0 2 0
73 Premen | &% A% A% 75 0 0 0 0 0 0 0 0
74 HIHEGE | EHE EeNis ok EeNis 0 0 0 0 0 0 0 0
75 BRESE  [E% ek (eis ek 0 0 0 0 0 0 0 0
76 KEH |6 fexi EeNis Ak 0.5 0 4.93 1.3 0 0 0 0
i AINNAN (A% f=Xis X % 1.32 0 2.64 1.99 0 0 1 1
78 S s e ok e 0 0 0 0 0 0 0 0
79 RUEIE | A e ok e 0 0 0 0 0 0 0 0
80 HUKE | & fenis e ek 0 0 0 0 0 0 0 0
81 L S =X i e 0 0 0 0 0 0 0 0
82 ik = G5 feXis EeXis G 0 0 0 0 0 0 0 0
83 BRuNE  [E% ek (e ek 0 0 0 0 0 0 0 0
84 WHE |G (ks 75 i 12.33 8. 05 13.33 8.58 3 3 1 1
85 i =X B i 0 0 0 0 0 0 0 0
86 X | A % ok Mo 0 0 0 0 0 0 0 0
87 far% (eis feni EeNis 5% 0. 85 3.43 2.79 2. 09 1 0 0 0
88 Atk [T (ks ki R 3.11 0.13 4.27 3.4 0 0 0 1
89 B | A =X X =i 0.31 0.31 0 0 0 0 0 2
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